MNOYEMY Mbl:

15 YEARS
EXPERIENCE

We have been manufacturing
railing hardwares since 2004.

WHY CHOOSE US

W @ FRD [y

ONE STOP
SERVICE

We provide integrated railing solutions.
We manufacture.
We deliver.

PROFESSIONAL TOP QUALITY

R&D TEAM & GOOD PRICE

We have engineering We are strict on quality control
experts for developing as well as cost evaluation.
new products.

ABOUT US

Shenzhen Launch Co., Ltd was established in 2004, located
at Nanshan District, Shenzhen, and one hour by car from
Hongkong International Airport. Our main products are
high-grade building materials including stainless steel
balustrade post, staircase handrail, balcony guardrail,
swimming pool fence and other high-grade building
materials. All the products are designed strictly according to
the high-end market requirements, We have our own
factory in Tangxia Town, Dongguan,with more than 50 sets
of various precision equipments , such as CNC lathe, milling
machine, punching machine, pipe cutter, argon welder,
drilling machine, polisher, etc. which can provide customers
with complete product processing services.



-

-

- .

Be3paMHoOe orpa>kpeHue M3 Hep>XaBelowen cTanun PerynnpyemMbi CTEKNAAHHbINA
¢dukcaTtop 38Mm



MaTepuan HepxaBetowuin ctans 316 / 304

FinishM irror / caTWH / YepHbIN UBET

OnameTp 38 MM, KpbiwKa 10 MM, ocHoBaHuKe 38

n3MepeHmne -
MM, slilicon pe3uHKa MpoKNaaKa BKIOYEHb

N3rOTOBAEHHLIN Ha

WmeeTca B Hannumn. Mbl Haxo4ATCA 3aBOS.
3akKa3 n3MepeHune A A

bokoBas CTopoHa KpenseHue / nnuo / acuum /

MOHTaX
CTeHa MOHTaX, (pUKCUMpoBaHWe B AepeBo / apeBecuHa / 6eToH

Openb cTekno gelpa | Quametp 14mm

MbI npepnaraeM apyrne KOHCTPYKLUUN CTEKJAAHHbIX CTOEK, MHAUBUAYaJIbHblE
pa3mepsbl ans awboro Tuna.

onToMm Bce BUAbl 60KOBOro KpenJsieHnsa Kpyrioro creKsa



SF-50A SF-50

SF-38 SF-38Z SF-30

CTaHAapTHble pa3Mepbl:




Part No. Malterial

* SF-30
= SF-40
« SF-50
= SF-50A

= AlS1 304
= AISI 316

Parl No.

= AISI 304
= AISI 316

= SF-38Z2

Part No. Material

= AlSI 304

" SFS0T | Aisi316

Malterial

Finish

= Satin
= Mirror

Finish

= Satin
® Mirror

Finish

= Satin
= Mirrar

Body

= 30x10: 30x25mm

= 40x10; 40x30mm

= 50x12; 50x30mm

= 50x12: 50x50mm

= silicon rubber gasket
included

Body

* hollow type

= 38x7.5,38x38mm

= silicon rubber
gasket included

Body

= 50x10:50x30mm
= silicon rubber
gasket included

Bolt size

= M10x120 bolt

= M10x72 wood screw
= M8x100 bolt

= M8 x72 wood screw

Boll size

* M8x70 hexagonal
screw

Mounting plate size

= 200x100x10mm

qepru‘i uBeT CTeKJiIo TYNUK






i, ®
KEBILH 1t

doTorpahmm NpoeKkTa CTEKASIHHOIO [MPOTUBOCTOSHUSA







KOHTAKT

Cnacunbo 3a nocetleHmne!

Jllobble BONPOCHI MK BOMPOCHI, MOXanyncTa, ocTaBbTe coobuieHne. Mbl CBS)XKEMCS C BaMU B Te4eHune 24
4acoB.

-KoHTakT: EBa

-MoyTa: sales03@launch-china.cn

-Mob / Whats APP: +8613686807796



